ERXERROMMAR

(B/m2)  (F/m?) (H/m?)

FRIEER, FREH SAEM T AT H29 4 ffit% | H28 A {iAE X RIS IEIRIER
85, 590m R T SFERILET 1 T B 3% 144} 98,500 96,500 | ( 2,000)
85, 1,800m feE s T /N BT P 1 04 3% 69,800 69,400 | ( 400 )
85, 2,200m e I T 4 B BT F 35 662 3 91,000 89,000 | ( 2,000)
FAEHE. 420m [ IEs T SR AE T S 5535 7 738 3 107,000 - ( -)
KAERE. 440m [ I Ty R AR T =t FH 12 399 103,000/ 102,000 | ¢ 1,000)
FYERE. 920m F U 7 3 T 7 K 4B 352 94,100 92,700 | ( 1,400)
FAYERE. 1,300m | P EIET =) 59 & 90,000 88,000 | ¢ 2,000)
FAlE, 300m [ U5 7 BA K ST = ELERO O 344 152,000/ 149,000 | (_ 3,000)
HREEE, 1,000m  |REIE T PTRETET 7% 108,000/ 108,000 | ( 0)
SRR, 1,600m |MiRm&EEfsm2T B3%F10 150,000] 148,000 | (_2,000)
R, 1,600m [ HEEBET2E12 143,000/ 142,000 | (_1,000)
SRR, 1,700m  |FEEH LR 1TT 4855 116,000 115,000 | (_1,000)
SRR, 1,800m [T AFEETFHEI9E112 116,000/ 115,000 | (_ 1,000)
R, 1,800m |MigHE=E3T H36%F 109,000/ 108,000 | (_1,000)
ERMEIR, 1,900m  |FEIRH/SALET=1T B 5432 112,0000 112,000 | ( 0)
SR, 1,900m [ HAERERT 3T H43%2 111,000, 111,000 | ( 0)
R, 2,000m |MiEHEERE2T H6EG 152,000/ 151,000 | (_ 1,000)
SRR, 2,200m  |fAisTT/\thrgfT1 T B43%17 110,000/ 109,000 | (_1,000)
R, 2,300m  |MIEHHE2T B4%E/ 102,000] 102,000 | ( 0)
R, 2,300m [T AFE2T H3&FE 114 99,000 98,500 | ( 500 )
R, 2,700m |G T A HET 1 0% 8 127,0000 127,000 | ( 0)
SRR, 2,900m [T A A rET14%F10 103,000/ 102,000 | _1,000)
BRI, 3,000m | R ET S /%1 104,000/ 102,000 | (_2,000)
SRR, 3,100m | HAERER T F&H T~ /& 10 98,800 98,000 | ( 800 )
SRR, 3,100m  |fies v F F M = f /R 86 & 4t 96,000 95,000 | ¢ 1,000)
SRR, 3,700m | H E{mETFiERE 1 %138 89,000 88,400 | ( 600 )
R, 3,700m |G HASHET /AT 130%F 111,000/ 109,000 | (. 2,000)
SRR, 3,900m  |migHASHEEr4%E4 101,000/ 100,000 | _1,000)
R, 4400m  |MEEHERE2T B1%8 101,000/ 100,000 | (1,000 )
SRR, 4,600m  |[MRHABEITEI1ET79 101,000/ 100,000 | _1,000)
A, 5000m [MIEHAFISTHI13EI6 100,000 98,000 | ¢ 2,000)
SRR, 5200m [l mERERT T H3%E14 95,500 94,800 | ( 700)
R, 5600m |MIGHAFSTHSETY 103,000/ 101,000 | (2,000 )
SRR, 6,300m |l a2 AT FHH82% 14 99,500 97,500 | 2,000 )
SRR, 8,700m | R i) [ BT a5 1 12 34} 66,500 66,500 | ( 0)
SRR, 9,400m | H#E) BT &71R94%E 82,500 81,700 | ( 800 )
SRR, 9,900m | I ET =7 L /128 77 71,000 69,500 | ( 1,500)
SRR, 11,000m | R BT FRg 54 0% 33,700 33,700 | ( 0)
x4, 380m £ S #THT 12327 113,000 112,000 | _1,000)
E4&. 460m MiFmEEIF=/AR20%E] 93,000 92,000 | ¢ 1,000)
x4&. 1,000m M mE) BT SF01 1846 97,800 97,800 | ( 0)
x#&. 1,300m [ U5 7 78 SR SF T 4R 119 241 45,500 45,500 | ( 0)
x4, 2,300m R HE AT FEEIE28F216 119,000/ 118,000 | (_1,000)
4. 2,300m F M 7 A S T 5 ey FH SR 6 2 | 82,200 82,200 | ( 0)
x4, 3,500m s f/NERF ALLF122% 42,200 42,200 | ( 0)
#JIl. 360m [ U 7 k) || BT S~ PR BT AL 20 %4 74,000 74,000 | ( 0)
g&JIl. 1,100m T 22T H215% 77,100 77,100 | ( 0)
B, 320m |G AR I HET 12815} 70,300 70,300 | ( 0)
ZEBIH, 500m [T EE AR FINIL33%23 68,300 68,300 | ( 0)
ZEIF, 3,000m | EARF T FiM22%F5 35,400 35,600 | ( A 200)
AfE. 600m M T ABH FHFAR2E3I2 76,300 76,300 | ( 0)
AfE. 1,400m iy E AR ST P 1L 14 9% 36,700 36,700 | ( 0)




FEEE. 590m  |RBH A7 4% 709.000] 107,000 ] (2,000
FmIG, 1500m | BT R K NE = IREE JE16 565000 65500 (_1.000)
. 480m EEHEsT H6E7 745.000] 141000 | (4000
I T BRAT AL 2% 18
R, 620m (FEIGER 444X 10) 152,000 - ¢ =)
EE. 1.000m  |MBHTFmEAGEO 122.000] 121,000 | (1,000
M. 1,100m _ |MBhRIA4 T B1513 150.000] _148.000 | (2,000
R, 1,100m | FIBT = AT =57 23 | 112.000] 110,000 | (2,000
. 1.100m | MBHAR SR n06E 136.000] 135000 | (1000
BB, 1200m | RIBHEAR = 21 23E5] 106.000] 105000 | (_1.000)
M. 1,400m _ |mBmimeEi2 T 810584 116.000] 115000 | (1,000
MK, 1000m  |MBHERE2 T B11E25 126.000] 125000 | (__1.000)
. 2,000m | G AT S 765000 76,500 | 0)
. 2,000m  |mIET R =/ ok 60% ] 717.000] 116,000 | (1,000
B, 2,000m | R AZEE JE19 118.000] 118.000 | ¢ 0)
&, 2500m  |miGm L2 T BAGE AL 116.000] _116.000 | ( 0)
B, 2700m | R EmE = E 1 8% 57800 87800 | ( 0)
. 2,700m W&t A/ A F 3R ] 96,0000 94.800 | (_1.200)
M. 5100m  |mIBh i = S Ma5E5 44,6000 44200 ] (400
BE, 6500m  |MIBH T SEAT3T B6E2] 85600 85600 | ( 0)
FE,. 980m EANATHRE TR /35 98.600 I )
e, 1500m | EEEATE 0 REALE] 960000 95400 (600
e, 2400m  |ABH AR SRS EOED 83500 83000 | (500
=M. 420m AN ATEATIERS2ED0 95800 95800 | ( 0)
=M@, 1100m | EEEATE 0= 053 965001 96500 | ( 0)
=m. 1.100m  |EEEATE 0=/ B1 51 05 51800 81400 (400
=M. 1500m  |EEEATE RS/ E80E ] 930001 93000 | ( o)
=M, 1.600m  |E=EE AT 1 35% | 47,900 47.900 | ( 0)
=418, 450m EHITAFEREFTHEO3E14 82,600 82,500 | ( 0)
=415, 580m  |ERE AT EECEE1 08 86000 86000 | ( 0)




